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11B Derivatives Trig

The derivative of f(x) = sin x
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Use the definition of the derivative to find Dy(sin x).

DX (SL\X>'{A"-\~;D 4(::-\-‘\)':\9&) . ‘Fb‘)'gﬁ")‘
- ﬁ:;‘a c&\(x%}-civ\x
- 46{,-\ sinx cosh +hcov= Sinh - Sinx

- f:: smx(co:\l\ |)4. cosX sl

D L ()

- ’“"({:‘a (e \))+st(¢“ jéqa)

= Sunx ({:: (l'z‘t{l\)) + Cosx (\3
O

=0D+covy

= cosy I:Dx(ﬁ"x):c;)

Z
T

\.

|§‘-
Q:?

1R
o‘@,é:




11B Derivatives Trig

The derivative of f(x) = cos x hﬁiﬂh"'
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Here is a graph of y = tan x (black) and its derivative (green). Can you guess what its
derivative might be?
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EX 1 Findy' for these functions.
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EX 2 Find the equation of the tangent line to y = cot x at x = /4
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